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[root@webl ~J# /shin/sysctl -a | grep tcp_tw_reuse

net.ipv4.tcp_tw_reuse = 0

[root@webl ~]# /sbin/sysctl -a | grep tcp_tw_recycle

net.ipv4.tcp_tw_recycle =0

[root@webl ~J# /sbin/sysctl -a | grep tcp_fin_timeout

net.ipv4.tcp_fin_timeout = 60

[root@webl “J# vi /etc/sysctl.conf

net.ipv4.tcp_tw_recycle =0
net.ipv4.tcp_tw_reuse = 1
net.ipv4.tcp_fin_timeout=30
net.ipv4.ip_local_port_range = 10240 65535

[root@webl ~“1# /sbin/sysctl -p

net.ipv4.ip_forward = 0
net.ipv4.conf.default.rp_filter = 1
net.ipv4.conf.default.accept_source_route = 0
kernel.sysrq = 0

kernel.core_uses_pid =1
net.ipv4.tcp_syncookies = 1

kernel.msgmnb = 65536

kernel.msgmax = 65536

kernel.shmmax = 68719476736
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kernel.shmall = 4294967296
net.ipv4.tcp_tw_recycle =0
net.ipv4.tcp_tw_reuse = 1
net.ipv4.tcp_fin_timeout = 30
net.ipv4.ip_local_port_range = 10240 65535

[root@webl ~J# /sbin/sysctl -a | grep tcp_fin_timeout

net.ipv4.tcp_fin_timeout = 30

[root@webl ~J# /sbhin/sysctl -a | grep tcp_tw_recycle

net.ipv4.tcp_tw_recycle =0

[root@webl ~J# /sbin/sysctl -a | grep tcp_tw_reuse

net.ipv4.tcp_tw_reuse = 1
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http://netmark.jp/2008/10/web.html
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